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Test Administrator Instructions:

This practice test has Subpart 1 and Subpart 2. It is recommended that you print one 
copy of this practice test and pull the answer key before copying and distributing the 
practice test to your students. The answer key is found at the end of the practice test.

This practice test is representative of the operational test but is shorter than the actual 
operational test. To see the details about the operational test, please see the blueprints 
located on the Tennessee Department of Education website.
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Directions

In this Practice Test, you will read a passage or set of passages and then write a 
response to a writing task. This task gives you an opportunity to demonstrate how well 
you can organize and express your ideas in written text.

After reading the passage(s) and writing task, take a few minutes to think about the 
material and to plan what you want to write before you begin to answer. Do your best 
to write a clear and well-organized response. Be sure to keep in mind your purpose and 
audience when developing your response.

Spend about 85 minutes on this response, including the time you spend reading the 
passage(s), planning, and writing your essay. If you finish before the allotted time ends, 
review your work.
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Read the passage and write a response to the writing task.

from “Between One and Three”

by Max Brand

	 A mysterious stranger has come to William Camden’s ranch seeking work.  
Nelly, the rancher’s daughter, has reason to believe the man is an outlaw and 
shares her suspicions with her father. In spite of Nelly’s objections, the rancher 
decides to test the man to find out more about him and see if he is qualified for 
the job. Nelly hides in a nearby shed to watch them.

1	 	 The test for roping came first. A wild young steer was loosed into a round 
corral. He had been taken up for feeding and care because of a deep, barbed- 
wire cut, and on such fare he had grown as vicious as any spoiled pet. Now, 
enraged by being loosed into the cold storm, the steer plunged here and there, 
shaking his long horns and bellowing. Joe Noyes presently followed and climbed 
onto the top rail of the fence and sat there, the dangling rope coiled in one  
hand. The steer made a rush at him, but he sat secure, though his whole body 
quivered, as the big beast crashed into the fence just below him.

2	 	 The steer, shaking his bruised head, turned and trotted in the opposite 
direction. Would the rope be tossed now? No, instead of throwing the rope, Joe 
Noyes swung over the fence and dropped lightly into the enclosure. He walked 
straight after the steer and had almost reached the center of the ring before  
the latter realized that the man was at his mercy.

3	 	 The moment that knowledge came to him, however, he whirled with 
incredible agility, considering his bulk, and darted for Noyes, while Nell hardly 
restrained a cry of warning and horror. She looked to her father on the opposite 
side of the fence; now even that imperturbable warrior had clenched his hands, 
though he would not draw his revolver to protect the man in the corral.

4	 	 The latter, however, seemed undismayed. He stood at ease, his left hand 
resting on his hip, the rope idle at his side, until the rushing steer was two  
paces away and the head with the wide-branching horns went down. Then like 
a flash he leaped to one side. It was a slinking, panther-like bound, such as she 
would have expected from him, having seen him walk across the floor of the 
kitchen. Even that leap did not carry him entirely clear, and he had to twist his 
body to make the sharp horn slide safely past his ribs.

5	 	 The steer with a roar of rage braced himself to come to a stop and wheel 
again at the victim, but now Joe Noyes was prepared to act. The rope came to 
snaky life in his hand. Then the noose shot forward, close to the ground. It fell, 
and then it flicked up again from the muddy surface and two legs of the steer  
on the left side were whipped together.
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6	 	 Down went the giant, spurring afar the water from several little surface 
pools. Noyes, with a twist or two, worked the rope loose. Then he stepped close 
and raked his long spur across the hip of the steer. The latter sprang bellowing  
to its feet, but now all the fight was gone from it. A blow of the rope along its  
flank sent it scurrying through the gate which the rancher now swung open.  
Noyes approached his would-be employer, coiling his rope.

7	 	 “I’ve sure messed up this rope,” was all he said.

8	 	 The wind blew the words to her in fragments of sound which she had to  
piece together. But now, looking at him with new eyes, she discovered what  
she had failed to notice in her previous excitement, that he had not taken off  
his slicker to fight the steer. Her admiration turned to wonder. And she saw the 
pipe in William Camden’s mouth tilt up to a sharp angle, a sure sign that he  
was greatly moved by what he had seen.

9	 	 “That’s enough rope work,” he said. “I guess you’re handy enough with a 
rope to suit me. And now about riding, Noyes . . . d’you mind stepping into  
yonder barn and saddling that old brown hoss in there?”

10	 	 The tall man nodded, disappeared into the designated shed, and presently a 
storm of wild noises issued from the interior, squealing, tremendous kicks that  
set the side of the shed quivering, and the snarling voice of a furious man.  
Then all the noise stopped abruptly.

11	 	 After a moment old Brownie, celebrated in seven counties for his prowess 
under the saddle and his skill in tossing the most expert riders into the air,  
came trotting peacefully out of the door of the shed, throwing his head and with  
his ears glued wrathfully back to his neck, but making not the slightest effort to 
buck the rider out of the saddle.

12	 	 Noyes rode the horse up to the rancher who was now frankly astonished.

13	 	 “Plumb sorry, Camden,” said the ’puncher. “I guess I can’t do any 
demonstrating on this old hoss. He changes his mind about showing off, or  
maybe I got the wrong hoss after all?”

14	 	 His face was not nearly so innocent as his voice and his words. His eyes  
were gleaming; a faint smile was twitching at the corners of his lips. Suddenly  
she saw in him something more than the mysteriously sinister stranger. For  
now under the mask he was simply a mischievous boy looking for trouble, and 
he was delighted beyond words because he had found it. And in that instant of 
revelation she saw for the first time that he was some half dozen years, at  
least, younger than she had hitherto thought him. For, whereas she had been 
putting him down as thirty-one or thirty-two, she now perceived that he could
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	 not be more than twenty-five at the most, though a hard life had made him  
seem much more mature.

15	 	 The grin disappeared on the ’puncher’s face, as the rancher admitted that 
Brownie was in fact the trail horse, and Camden even went so far as to say that 
Noyes was the first to ride the old warrior into submission.

16	 	 “And now about the shooting, Noyes. Do you want to go in out of the rain for 
that?”

17	 	 “When it comes to shooting,” said Noyes, the words clipped off short at his 
lips by a fierce gust of wind, so that they were blown strangely to the ears of  
the girl, “a gent can’t pick his weather. I’ll try my chances now. What’s the  
target?”

18	 	 “Why, you might try that post across yonder. That one with the white knot 
near the top and the two nails sticking up.”

19	 	 “That’s a pretty long shot and a pretty small target,” said the new 
cowpuncher gloomily. “Howsomever I’ll try it!”

20	 	 Nelly herself craned her head so that, through the crack behind which she 
stooped, she could make out the post with the two nails sticking up above.  
Then she saw the long revolver come into the hand of Noyes.

21	 	 “Take your time,” said Camden. “I’d rather have accuracy than speed any 
day.”

22	 	 Noyes raised the gun, steadied it for a long moment, while Nelly saw the 
barrel beaded by the falling of the rain. Then it exploded, but no hole was torn 
through the post by the big slug.

23	 	 “Missed, confound it!” cried Noyes. “But this time I’ll get it!”

24	 	 The gun went off again. Again the post escaped, but now Nelly saw that both  
of the nails had disappeared from the top of the post.

25	 	 “Lemme have another try,” cried the cowpuncher, apparently very angry.

26	 	 “Two tries is enough, and more than a gent usually gets at a coyote,” said 
Camden, smiling. “But I guess you’re good enough with a rope and a hoss to  
make up for it . . . if you know cows.”

27	 	 “I know ’em pretty fair. Matter of fact, I ain’t anything to talk about with a 
gun, partner.”
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28	 	 His failure seemed to have softened him. He was almost apologetic. And now 
he turned Brownie away, rode him back to the barn from which he had been  
taken, and rejoined the stolid form of the rancher.

29	 	 “We’ll cut back for the house and talk about wages,” said her father, and  
they started straight for the shed where Nelly was hidden. She had barely time  
to understand that they intended to take a short cut through her shed, and  
then she hid herself. The next moment they were in the shed, walking past the    
long line of stalls, when suddenly she heard her father cry out: “We’ve got him, 
sheriff! Block the door!”

Excerpt from “Between One and Three” in The Bells of San Carlos and Other Stories, by Max Brand.  
Copyright © 1996 by Jane Faust Easton and Adriana Faust Bianchi. Published by University of 
Nebraska Press.
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Writing Task

In this passage, the author creates suspense about what will happen next. Write a 
continuation of the story that resolves that suspense. Be sure to use what you have 
learned about the setting, characters, and plot of the passage.

Manage your time carefully so that you can

•	 Plan your response

•	 Write your response

Your written response should be in the form of a multi-paragraph narrative story. 

Write your response to the Writing Task in the space provided.
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This page is intentionally left blank.
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This is the end of Subpart 1 of the English III Practice Test.  
Proceed to Subpart 2.
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Directions

This Practice Test contains several types of questions. The following samples show the 
types of test questions used. For all items, mark your answers on the answer sheet 
provided.

Sample 1: Multiple-choice (one correct response)

1.	 What does the author mean by Maria’s “radiant personality” in paragraph 4?

A.	 She is organized.

B.	 She is a hard worker.

C.	 She is outgoing and likable.

D.	 She is tired and sleepy.

Sample 2: Multiple-select (multiple correct responses)

2.	 According to passage 1, Mr. Gespy is planting a small garden in his backyard. He 
wants to know which vegetables will grow best in his garden.

Select two sentences that will help Mr. Gespy decide which vegetables to plant in 
his garden.

A.	 Mr. Gespy saw many flowers on his trip to the mountains last year.

B.	 The soil in Mr. Gespy’s backyard is very sandy.

C.	 Mr. Gespy lives in a large neighborhood.

D.	 The winter months are usually cold where Mr. Gespy lives.

E.	 Mr. Gespy’s backyard is shady, with little direct sunlight.
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Sample 3: Two-part multiple-choice (with evidence responses)

Read the passage and answer the questions that follow.

The State Quarters Program

A profile of our first U.S. president, George Washington, has been featured on the 
quarter since 1932. While Washington graces the “heads” side, or obverse, of the 
coin, the reverse has had numerous variations, most notably during the State 
Quarters program launched by the U.S. government from 1999 to 2008. During 
this span, each of the 50 states was represented on the reverse with a depiction of 
its cultural legacy or a significant event in its history. The Delaware quarter depicts 
Caesar Rodney, an instrumental statesman during the American Revolution. The 
North Carolina quarter shows the Wright brothers’ first airplane flight. The 
Tennessee quarter portrays the musical heritage of the Volunteer state, illustrated 
by a fiddle, a trumpet, and a guitar.

3.	 The following item has two parts. Answer Part A and then answer Part B.

Part A
What is meant by legacy, as mentioned in the passage?

A.	 pause

B.	 collection

C.	 tradition

D.	 instrument

Part B
Which phrase from the passage best supports the answer to Part A?

A.	 “Washington graces the ‘heads’ side”

B.	 “the reverse has had numerous variations”

C.	 “program launched by the U.S. government”

D.	 “portrays the musical heritage”
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Sample 4: Editing Task

Some test items require you to determine if an underlined word or phrase in a passage 
is used correctly.

There are words or phrases in the passage that are underlined to show they 
may be incorrect. For each underlined word or phrase, select the correct 
replacement.

4.	 Plastic water bottles and plastic grocery bags have become a major environmental 
issue in our country. The plastic often used to make many bottles and bags takes 
hundreds of years to disintegrate, caused unneeded pollution in our waters, parks, 
and land fields.

Replace disintegrate, caused with

A.	 disintegrate. Caused

B.	 disintegrate, causing

C.	 disintegrate; causing

D.	 disintegrate, caused
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Read the passages and mark your answers on the answer sheet provided.

Passage 1 
from “Galaxy in Front of Supernova Creates Cosmic Mirage:  

Einstein Cross”

by Nadia Drake

1	 	 A galaxy’s alignment lets astronomers watch a strange, distant supernova 
explode. And then watch it again. And again. And again and again.

2	 	 Instead of intergalactic voodoo, the twisted apparitions are the result of a 
fortuitous1 cosmic alignment.

3	 	 Exactly one century ago, in his theory of general relativity, Einstein  
described how massive objects could tug on light, and even pull at the fabric of 
space-time. Put simply, strong gravitational fields can act as lenses—warping, 
magnifying, and redirecting light as it travels through the cosmos.

4	 	 “It’s just this incredible verification of general relativity,” says study  
co-author Ryan Foley of the University of Illinois at Urbana-Champaign.

5	 	 Depending on the lensing geometry and position of the viewer—in this case, 
the Hubble Space Telescope—multiple images of the same background object  
can be produced. Some of those images might even arrive years apart.

6	 	 Here, one of the galaxies in a massive cluster five billion light-years away is  
acting as a lens for the dying star. The supernova’s four projected images are 
arranged in a configuration known as an Einstein Cross—but they’re not all  
playing at the same speed, because the light took slightly different paths on its  
way to Earth. Though a handful of bright, active galaxies have been caught in a 
cross shape before, this is the first supernova found in perfect quadruplicate.

7	 	 “They are definitely very unusual,” says University of California, Berkeley 
postdoc Patrick Kelly, who spotted the supernova in images from Hubble.  
“Probably because no one had found a similar object before, I had not even 
seriously entertained the possibility of finding multiple images of the same 
supernova.”

8	 	 Scientists predict this explosion will replay in a completely different part of  
the cluster sometime in the next decade, but the rerun could air as early as 
next year. Studying the delay between showtimes will help astronomers gather 
information about the rate at which the universe is expanding.

1 fortuitous: occurring by chance
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9	 	 Without lensing, the supernova wouldn’t have been visible at all—at roughly 
nine billion light-years away, it would have been too faint. The images taken by 
Hubble, though, are part of a program designed specifically to look for lensed 
objects. Through the quirks of their image manipulation, gravitational lenses  
can reveal information about how dark matter is distributed and how the  
expansion rate of the universe has changed over time—things that are  
otherwise pretty tricky to measure.

10	 	 “We can try to reverse engineer the properties of the gravitational lens,”  
says Robert Kirshner of the Harvard-Smithsonian Center for Astrophysics. “The  
lens itself is not really the bright stars we can see. The thing that is doing the 
lensing is the dark matter.”

Superweird Supernova

11	 	 The supernova itself is something of an enigma.2 Kelly and the team named it 
after Sjur Refsdal, the Norwegian astrophysicist who first predicted that  
lensed supernovae could be used to probe cosmic expansion, back in 1964.

12	 	 Scientists caught it early and have watched as the explosion keeps getting 
brighter—which it’s been doing for the past four months. Normally, supernovae 
would have peaked in brightness and begun dimming by now, but this one isn’t 
obeying the rules. What’s more, the spectrum of light from the explosion  
doesn’t match any of the known types of supernovae. Scientists’ best guess  
right now is that it’s a peculiar type of core-collapse supernova, similar to one  
that went off in 1987 in the Large Magellanic Cloud.

13	 	 It’s also possible that nine billion years ago, stars were following a slightly 
different set of rules. The younger universe contained fewer metals, scientists  
say, and the stars grew bigger and died faster. So it’s not inconceivable that 
supernovae behaved differently, too.

14	 	 “I would not be surprised if this was a little bit different than local  
examples,” Foley says. “One of the big open areas of research is determining 
exactly what changes with cosmic time or distance.”

15	 	 The team will continue to observe the brightening explosion, and will do its 
best to catch the rerun from the very beginning. In fact, it’s probably not the  
first time this supernova has lit up the cosmic screen: Simulations based on the 
lensing cluster suggest the star’s final act may have already played twice in the 
past century.

Excerpt from “Galaxy in Front of Supernova Creates Cosmic Mirage: Einstein Cross” by Nadia Drake 
in National Geographic, March 2015.

2 enigma: mystery
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Passage 2 
“Scientists See Same Star Explode 4 Times”

by Charles Q. Choi

	 A galaxy-scale cosmic lens brings a faraway supernova into focus.

16	 	 For the first time, a cosmic magnifying glass has allowed scientists to see 
the same star explosion four times, possibly offering a revealing glimpse into  
these explosive stellar deaths and the nature of the accelerating universe.

17	 	 Astronomers using the Hubble Space Telescope have captured four images 
of a supernova explosion in deep space thanks to a galaxy located between  
Earth and the massive star explosion. The galaxy cluster warped the fabric of 
space and time around it—like a bowling ball placed on a bed sheet—allowing 
scientists to see the supernova in four images.

18	 	 “It was predicted 50 years ago that a supernova could be gravitationally 
lensed like this, but it’s taken a long time for someone to find an  
example,” lead study author Patrick Kelly, an astronomer at the University of 
California, Berkeley told Space.com. “It’s fun to have been able to find the first 
one.”

19	 	 The supernova, which was discovered on Nov. 11, 2014, is located about  
9.3 billion light-years away from Earth, near the edge of the observable  
universe. The researchers have named the distant supernova SN Refsdal in  
honor of the late Norwegian astrophysicist Sjur Refsdal, a pioneer of  
gravitational lensing studies. Due to gravitational lensing, “the supernova  
appears 20 times brighter than its normal brightness,” study co-author Jens 
Hjorth, head of the Dark Cosmology Centre at the Niels Bohr Institute at the 
University of Copenhagen, said in a statement.

20	 	 The lensing galaxy, which is about 5 billion light-years from Earth, is part of 
a large cluster of galaxies known as MACS J1149.6+2223. In 2009,  
astronomers discovered that this cluster was the source of the largest known 
image of a spiral galaxy ever seen through a gravitational lens.

21	 	 The four images of the supernova each appeared separately over the course 
of a few weeks. This is because light can take various paths around and  
through a gravitational lens, arriving at Earth at different times.

Using gravity as a lens

22	 	 Gravity is created when matter warps the fabric of reality. The greater the 
mass of an object, the more space-time curves around that object and the
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	 stronger its gravitational pull, the discovery enshrined in Einstein’s theory of 
general relativity, which celebrates its centennial this year.

23	 	 As a result, gravity can also bend light like a lens, meaning objects seen  
behind powerful gravitational fields, such as those of massive galaxies, are 
magnified. Gravitational lensing was first discovered in 1979, and today 
gravitational lenses can help astronomers see features otherwise too distant  
and faint to detect with even the largest telescopes.

24	 	 “These gravitational lenses are like a natural magnifying glass. It’s like  
having a much bigger telescope,” Kelly said in a statement. “We can get  
magnifications of up to 100 times by looking through these galaxy clusters.”

25	 	 When light is far from a gravitationally lensing mass, or if the gravitationally 
lensing mass is not especially large, only “weak lensing” occurs, barely  
distorting the light. However, when the light comes from almost exactly behind  
the gravitationally lensing mass, “strong lensing” can happen.

26	 	 When a strongly lensed object occupies a large patch of space—for instance, 
if it’s a galaxy—it can get smeared into an “Einstein ring” surrounding a  
gravitationally lensing mass. However, strong lensing of small, pointlike items—  
for instance, super-bright objects known as quasars—often produces multiple 
images surrounding the gravitationally lensing mass, resulting in a so-called 
“Einstein cross.”

27	 	 The observations of SN Refsdal mark the first time astronomers on Earth 
have witnessed strong lensing of a supernova, with four images of an exploding 
star arrayed as an Einstein cross.

An expanding universe

28	 	 These new findings could help scientists measure the accelerating rate at 
which the universe is expanding, researchers say.

29	 	 A computer model of the lensing cluster suggests the scientists missed 
chances to see the lensed supernova 50 and 10 years ago. However, the model 
also suggests more images of the explosion will repeat again within the next 10 
years.

30	 	 The timing of when all these images of the supernova arrive depends on the 
gravitational pull of the matter generating the gravitational lens. So, by  
measuring those times, the researchers hope to map how visible normal matter 
and invisible dark matter is distributed in the lensing galaxy.
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31	 	 Dark matter is currently one of the greatest mysteries in science, a poorly 
understood substance thought to make up five-sixths of all matter in the  
universe. A better understanding of how dark matter is behaving in this  
gravitationally lensing cluster might help shed light on the material’s nature,  
Kelly said.

“Scientists See Same Star Explode 4 Times” by Charles Q. Choi from Scientific American, March 5, 2015.

1.	 Which quotation from passage 1 best helps convey the author’s point of view that 
astronomers still have a great deal to learn about the cosmos?

A.	 “Instead of intergalactic voodoo, the twisted apparitions are the result of a 
fortuitous cosmic alignment.”

B.	 “Depending on the lensing geometry and position of the viewer—in this case, 
the Hubble Space Telescope—multiple images of the same background object 
can be produced.”

C.	 “The supernova’s four projected images are arranged in a configuration known 
as an Einstein Cross—but they’re not all playing at the same speed, because 
the light took slightly different paths on its way to Earth.”

D.	 “Normally, supernovae would have peaked in brightness and begun dimming 
by now, but this one isn’t obeying the rules.”
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2.	 The following item has two parts. Answer Part A and then answer Part B.

Part A
What is the meaning of the word quadruplicate as it is used in paragraph 6?

A.	 magnified by a gravitational pull

B.	 arranged in a spiral shape

C.	 expected at different times

D.	 composed of four parts

Part B
Select the word or phrase that best supports the correct answer in Part A.

A.	 “massive cluster”

B.	 “lens”

C.	 “configuration”

D.	 “bright, active galaxies”

E.	 “cross shape”

F.	 “perfect”
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3.	 The following item has two parts. Answer Part A and then answer Part B.

Part A
Which sentence best summarizes the central ideas in passage 2?

A.	 A distant supernova has been named for a scientist who studied gravitational 
lensing; a supernova that was visible in the past will be visible again in the 
future.

B.	 Astronomers are successfully using the Hubble Space Telescope to discover 
new types of supernovae; a supernova has resulted in a formation known as 
an Einstein cross.

C.	 Galaxy clusters sometimes serve as a natural magnifying glass for objects 
behind them; scientists have seen multiple images of a supernova in deep 
space.

D.	 Scientists are using computer models to make predictions about the universe; 
it becomes easier to see distant objects when they are viewed through 
gravitational lenses.

Part B
How are these central ideas developed in the passage?

A.	 Paragraphs 16 through 19 explain how the supernova’s position in relation to a 
galaxy has caused the supernova image to appear four times.

B.	 Paragraphs 17 and 21 provide a detailed description of the Einstein cross to 
show the usefulness of the Hubble Space Telescope.

C.	 Paragraphs 19 and 27 refer to the supernova by name, and paragraph 29 
explains when it is likely to be visible again.

D.	 Paragraphs 22 through 26 describe unique effects created by gravity, and 
paragraph 27 provides an example of its effects.
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4.	 How do the authors use structure to present the main ideas of the passages?

A.	 Although both passages begin by contrasting a lensed supernova with other 
distant objects unaffected by gravitational lensing, passage 1 speculates about 
the cause of the supernova, while passage 2 describes its possible future 
effects.

B.	 Although both passages begin by establishing that gravitational lensing has led 
to the discovery of a distant supernova, passage 1 gives additional information 
about the supernova, while passage 2 provides a detailed explanation of 
gravitational lensing.

C.	 Both passage 1 and passage 2 define gravitational lensing, and then give 
various examples of how it has affected objects in space.

D.	 Both passage 1 and passage 2 describe the main problem astronomers face 
when attempting to study distant objects, and then explain how gravitational 
lensing provides a partial solution to that problem.

5.	 According to both passages, studying supernovae through gravitational lenses 
could ultimately lead to which two outcomes?

A.	 determining the frequency of the appearance of supernovae

B.	 understanding the nature of dark matter

C.	 measuring the rate at which the universe is expanding

D.	 focusing gravitational lenses on specific objects in space

E.	 warping the fabric of space and time around a large galaxy
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6.	 The following item has two parts. Answer Part A and then answer Part B.

Part A
Arrange the four sentences in the order in which the events occurred according to 
the dates given in the passages. Fill out the ovals on the table provided on your 
answer document to indicate the correct order of the events.

1 2 3 4

Astronomers witnessed strong lensing of a supernova 
with four images of the exploding star forming an 
Einstein cross.

Sjur Refsdal predicted that lensed supernovae could 
increase astronomers’ understanding of the universe.

Galaxy cluster MACS J1149.6+2223 was discovered.

Gravitational lensing was discovered.

Part B
In the context of the passages, why is it important to know when Einstein 
published his theory of general relativity?

A.	 The theory explains how the Hubble Space Telescope captured images of a 
core-collapse supernova in the Large Magellanic Cloud.

B.	 The theory proves the existence of dark matter.

C.	 The theory is the foundation for scientific developments that led to using a 
gravitational lens to study a supernova.

D.	 The theory was disproved by the weak lensing images of an Einstein cross 
captured by the Hubble Space Telescope.
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7.	 The following item has two parts. Answer Part A and then answer Part B.

Part A
How do the authors of both passages support the conclusion that the discovery of 
the supernova is an important event?

A.	 They explain that the supernova is so far away that it could not have been 
seen without gravitational lensing.

B.	 They describe the elation felt by Patrick Kelly, the scientist who spotted the 
supernova in Hubble images.

C.	 They explain how gravitational lensing of small, bright objects produces a 
beautiful effect known as an Einstein cross.

D.	 They describe what scientists hope to learn from analyzing the timing between 
different supernova images.

Part B
Which two statements provide evidence for the correct answer in Part A?

A.	 The passages mention how little is known about dark matter.

B.	 The passages explain what gravitational lensing is.

C.	 The passages quote Patrick Kelly.

D.	 The passages mention quasars as an example of objects that can cause an 
Einstein cross.

E.	 The passages say it is difficult to measure the rate at which the universe is 
expanding.

F.	 The passages note that the supernova is 9.3 billion light-years away.
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Read the poem and mark your answers on the answer sheet provided.

After Apple-Picking

by Robert Frost

	 My long two-pointed ladder’s sticking through a tree  
Toward heaven still, 
And there’s a barrel that I didn’t fill  
Beside it, and there may be two or three

5	 Apples I didn’t pick upon some bough.  
But I am done with apple-picking now.  
Essence of winter sleep is on the night,  
The scent of apples: I am drowsing off. 
I cannot rub the strangeness from my sight

10	 I got from looking through a pane of glass 
I skimmed this morning from the drinking trough  
And held against the world of hoary grass. 
It melted, and I let it fall and break.  
But I was well

15	 Upon my way to sleep before it fell,  
And I could tell 
What form my dreaming was about to take.  
Magnified apples appear and disappear,  
Stem end and blossom end,

20 	 And every fleck of russet showing clear.  
My instep arch not only keeps the ache,  
It keeps the pressure of a ladder-round. 
I feel the ladder sway as the boughs bend.  
And I keep hearing from the cellar bin

25	 The rumbling sound 
Of load on load of apples coming in.  
For I have had too much 
Of apple-picking: I am overtired 
Of the great harvest I myself desired.

30	 There were ten thousand thousand fruit to touch,  
Cherish in hand, lift down, and not let fall. 
For all 
That struck the earth, 
No matter if not bruised or spiked with stubble,

35	 Went surely to the cider-apple heap  
As of no worth. 
One can see what will trouble 
This sleep of mine, whatever sleep it is.
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	 Were he not gone,
40	 The woodchuck could say whether it’s like his  

Long sleep, as I describe its coming on, 
Or just some human sleep.

“After Apple-Picking” by Robert Frost. In the public domain.

8.	 The following item has two parts. Answer Part A and then answer Part B.

Part A
Select two sentences that best express central ideas of “After Apple-Picking.”

A.	 The speaker is reflecting on a life of hard work.

B.	 The speaker is afraid to die.

C.	 The speaker greatly enjoys life and wishes it to continue.

D.	 The speaker feels he has done everything possible in his life.

E.	 The speaker is unhappy about leaving things undone when he dies.

F.	 The speaker is prepared for the end.

Part B
Select two details that best support the correct answers in Part A.

A.	 “there may be two or three / Apples I didn’t pick upon some bough. / But I am 
done with apple-picking now.”

B.	 “I could tell / What form my dreaming was about to take.”

C.	 “Magnified apples appear and disappear, / Stem end and blossom end, / And 
every fleck of russet showing clear.”

D.	 “My instep arch not only keeps the ache, / It keeps the pressure of a ladder-
round.”

E.	 “I am overtired / Of the great harvest I myself desired. / There were ten 
thousand thousand fruit to touch, / Cherish in hand, lift down, and not let fall.”

F.	 “For all / That struck the earth, / No matter if not bruised or spiked with 
stubble, / Went surely to the cider-apple heap / As of no worth.”
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9.	 The following item has two parts. Answer Part A and then answer Part B.

Part A
What does the word skimmed mean in line 11?

A.	 read

B.	 crossed

C.	 lifted

D.	 touched

Part B
Which phrase from the poem best helps the reader determine the meaning of 
skimmed?

A.	 “from looking through”

B.	 “pane of glass”

C.	 “from the drinking trough”

D.	 “world of hoary grass”
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10.	 The following item has two parts. Answer Part A and then answer Part B.

Part A
What is the literal meaning of “a pane of glass” in line 10?

A.	 a sheet of ice

B.	 a magnifying lens

C.	 a pair of eyeglasses

D.	 a stained-glass window

Part B
Select two words or phrases from the poem that best support the correct answer 
in Part A.

A.	 “my sight”

B.	 “skimmed this morning from the drinking trough”

C.	 “held against the world”

D.	 “melted”

E.	 “Upon my way”

F.	 “it fell”

11.	 What do lines 9–15 suggest about the speaker?

A.	 He has begun to see the world in a different way.

B.	 He has become mentally and physically weak.

C.	 He has a strong appreciation for the beauty of nature.

D.	 He has concerns about how the coming winter will affect his apple trees.
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12.	 Select two lines that suggest the speaker has lived a busy life.

A.	 “I feel the ladder sway as the boughs bend.”

B.	 “And I keep hearing from the cellar bin”

C.	 “For I have had too much”

D.	 “Of apple-picking: I am overtired”

E.	 “No matter if not bruised or spiked with stubble,”

F.	 “Went surely to the cider-apple heap”

13.	 The following item has two parts. Answer Part A and then answer Part B.

Part A
Which is the best literal interpretation of lines 30–38?

A.	 The speaker often dropped apples because he was distracted by his thoughts.

B.	 The speaker had to remember to set some apples aside with which to make 
cider later.

C.	 The speaker enjoyed the challenge of picking many apples quickly without 
letting them drop to the ground.

D.	 The speaker dropped some apples and left them on the ground even if they 
were undamaged.

Part B
How do these lines help develop a theme of the poem?

A.	 They reveal the speaker’s concern that others may do his work improperly 
after he dies.

B.	 They suggest that the speaker may regret some wasted opportunities.

C.	 They reveal that the speaker was once a greedy man but has changed his 
ways.

D.	 They show that the speaker has led a satisfying life.
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14.	 Which two excerpts from “After Apple-Picking” best reveal that the speaker 
believes he has reached the end of his life?

A.	 “But I am done with apple-picking now. / Essence of winter sleep is on the 
night, / The scent of apple: I am drowsing off.”

B.	 “But I was well / Upon my way to sleep before it fell, / And I could tell / What 
form my dreaming was about to take.”

C.	 “Magnified apples appear and disappear, / Stem end and blossom end, / And 
every fleck of russet showing clear.”

D.	 “My instep arch not only keeps the ache, / It keeps the pressure of a ladder-
round. / I feel the ladder sway as the boughs bend.”

E.	 “And I keep hearing from the cellar bin / The rumbling sound / Of load on load 
of apples coming in.”

F.	 “There were ten thousand thousand fruit to touch, / Cherish in hand, lift down, 
and not let fall.”
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There are seven words or phrases in the passage that are underlined to show 
they may be incorrect. For each underlined word or phrase, choose the correct 
replacement and mark your answer sheet.

		  New findings point toward the idea that many, if not all, animals use a form 
of language to communicate. Even insects may use language. A surprising fact 
brought to light by one determined scientist’s research on bees in the twentieth 
century.

		  Using a special glass-walled-hive and bees marked with colored paint, the 
German scientist Karl von Frisch and his fellow researchers watched as they 
discovered food sources at specific locations and then returned to the hive. The 
scientists noticed the bees buzzed circled and “waggled” when they returned to 
the hive after foraging for food, a set of actions researchers described as a dance. 
Through careful observation, von Frisch was able to determine that the foraging 
bees’ movements communicated distance and direction to the bees at the hive.
These other bees could then use the information communicated by the foraging 
bees to find the food source themselves. When the location of the food source 
changed, the foraging bees’ dance changed, too. Since bees’ sense of direction  
was based on the location of the sun and not a compass, the bees’ dance also 
changed with the time of day. These clues helped von Frisch develop his theory of 
bees’ “dance language.”

		  While some scientists believe the bee dance is not a true language, von Frisch  
won the nobel prize in Medicine in 1973 for his work. Today scientists continue to 
research the puzzle of animal communication, hoping that one day we will be able 
not only to understand what animals say to one another but also to communicate 
with them ourselves.

15.	 Replace language. A surprising with

A.	 language. A surprising

B.	 language—a surprising

C.	 language; a surprising

D.	 language a surprising,
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16.	 Replace glass-walled-hive with

A.	 glass-walled-hive

B.	 glass, walled hive

C.	 glass walled-hive

D.	 glass-walled hive

17.	 Replace they with

A.	 they

B.	 the researchers

C.	 von Frisch

D.	 the bees

18.	 Replace buzzed circled and “waggled” with

A.	 buzzed circled and “waggled”

B.	 buzzed circled and “waggled,”

C.	 buzzed, circled, and “waggled”

D.	 buzzed circled, and “waggled”

19.	 Replace distance and direction with

A.	 distance and direction

B.	 some information

C.	 advice and wisdom

D.	 various things
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This is the end of the test.

20.	 Replace was based with

A.	 was based

B.	 is based

C.	 will be based

D.	 had been based

21.	 Replace nobel prize in Medicine with

A.	 nobel prize in Medicine

B.	 Nobel prize in Medicine

C.	 nobel Prize in Medicine

D.	 Nobel Prize in Medicine
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Name: __________________________________

Subpart 2 Sample Questions 

1.	      A 	      B 	      C 	      D

2.	      A 	      B 	      C 	      D 	      E 	 (Select two)

3.	 Part A:	      A 	      B 	      C 	      D 	

	 Part B:	      A 	      B 	      C 	      D

4.	      A 	      B 	      C 	      D

Subpart 2 Practice Test Questions

1.	      A 	      B 	      C 	      D 	

2.	 Part A:	      A 	      B 	      C 	      D

	 Part B:	      A 	      B 	      C 	      D 	      E 	      F

3.	 Part A:	      A 	      B 	      C 	      D

	 Part B:	      A 	      B 	      C 	      D

4.	      A 	      B 	      C 	      D 	

5.	      A 	      B 	      C 	      D 	      E 	 (Select two)
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6.	 Part A:	

1 2 3 4

Astronomers witnessed strong lensing of a supernova 
with four images of the exploding star forming an 
Einstein cross.

Sjur Refsdal predicted that lensed supernovae could 
increase astronomers’ understanding of the universe.

Galaxy cluster MACS J1149.6+2223 was discovered.

Gravitational lensing was discovered.

	 Part B:	      A 	      B 	      C 	      D 		

7.	 Part A:	      A 	      B 	      C 	      D

	 Part B:	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

8.	 Part A:	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

	 Part B:	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

9.	 Part A:	      A 	      B 	      C 	      D

	 Part B:	      A 	      B 	      C 	      D

10.	 Part A:	      A 	      B 	      C 	      D 	

	 Part B:	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

11.	      A 	      B 	      C 	      D

12.	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

13.	 Part A:	      A 	      B 	      C 	      D

	 Part B:	      A 	      B 	      C 	      D 	

14.	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

15.	      A 	      B 	      C 	      D

16.	      A 	      B 	      C 	      D
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17.	      A 	      B 	      C 	      D

18.	      A 	      B 	      C 	      D

19.	      A 	      B 	      C 	      D

20.	      A 	      B 	      C 	      D

21.	      A 	      B 	      C 	      D
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Subpart 2 Sample Questions 

1.	      A 	      B 	      C 	      D

2.	      A 	      B 	      C 	      D 	      E 	 (Select two)

3.	 Part A:	      A 	      B 	      C 	      D

	 Part B:	      A 	      B 	      C 	      D

4.	      A 	      B 	      C 	      D

Subpart 2 Practice Test Questions

1.	      A 	      B 	      C 	      D 	

2.	 Part A:	      A 	      B 	      C 	      D

	 Part B:	      A 	      B 	      C 	      D 	      E 	      F

3.	 Part A:	      A 	      B 	      C 	      D

	 Part B:	      A 	      B 	      C 	      D

4.	      A 	      B 	      C 	      D 	

5.	      A 	      B 	      C 	      D 	      E 	 (Select two)

6.	 Part A:

1 2 3 4

Astronomers witnessed strong lensing of a supernova 
with four images of the exploding star forming an 
Einstein cross.

     C

Sjur Refsdal predicted that lensed supernovae could 
increase astronomers’ understanding of the universe.

     C

Galaxy cluster MACS J1149.6+2223 was discovered.      C

Gravitational lensing was discovered.      C

	 Part B:	      A 	      B 	      C 	      D 		
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7.	 Part A:	      A 	      B 	      C 	      D

	 Part B:	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

8.	 Part A:	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

	 Part B:	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

9.	 Part A:	      A 	      B 	      C 	      D

	 Part B:	      A 	      B 	      C 	      D

10.	 Part A:	      A 	      B 	      C 	      D 	

	 Part B:	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

11.	      A 	      B 	      C 	      D

12.	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

13.	 Part A:	      A 	      B 	      C 	      D

	 Part B:	      A 	      B 	      C 	      D 	

14.	      A 	      B 	      C 	      D 	      E 	      F 	 (Select two)

15.	      A 	      B 	      C 	      D

16.	      A 	      B 	      C 	      D

17.	      A 	      B 	      C 	      D

18.	      A 	      B 	      C 	      D

19.	      A 	      B 	      C 	      D

20.	      A 	      B 	      C 	      D

21.	      A 	      B 	      C 	      D
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